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4. Calculate the length of the hypotenuse in-each diagram,
(a) 6 &)
]

(b) -

(D).

5. Calculate the length of the marked side in these diagrams.
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6. Calculate the size of the mérked side,
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ABCD is a rectangle, Find
length of BD.
)
dixa i H

PR-is dis;n%elter- of eircle centre O.
/PQR& 90°, If OP is 26.cm and
QR is 30 cm, calculate length of PQ.

7. Decide which of the foﬂoﬁ}iﬁg triangles are righiz aﬁgled. (3ive reasons. -

(a)

(b)
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8. Complete the Pythagorean Triads o

o (&):{7, .24: 8.} . (8) {133 N: 85}
B {9, 12,3 .. . Fer () 21,72, p}
(c) {18;n,30} -~ - () {18, 24, 2}
(d) {5, t,41} (b) {7, 1, t3

9, Calculate the length of the hypotenuse correctto one decimal\ place,
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ABCD is a square with Y PQRS is a rectangle with PQ. = b
AD = 1 em. Caléulate length em; RQ = 3 cmi. Caleulate the
of AC. e ; Jlength of QS
18, C‘alculaf_s,_e the length of the marked side correet to one decinial place,
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11, Caleulate the 1eng§;h of the marked side correct to 3 sighﬁicam_: figures..
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